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BIOLOGY

Maximum : 60 Scores

Time : 2 Hours
Cool off time : 20 Minutes
Preparatory time : 5 Minutes

q General inst}uctions to Candidates : )

» There is a ‘cool off time’ of 10 minutes each for Botany and Zoology in aadition 1o
the writing time of 1 hour each. Further there is ‘5 minutes’ ‘Preparatory Time’ at
the end of the Botany Examination and before the commencement of Zoology
Examination.

e You are not allowed to write your answers nor to discuss anything with others

during the ‘cool off time’ and ‘Preparatory time". '

Use the ‘cool off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also providea.

Give equations wherever necessary. o

Electronic devices except non programmable calculators are not allowed iIn the
Examination Hall.
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PART —A

aximum Score : 30 BOTANY

ime : 1 Hour
ool of Time : 10 Minutes

1. GERM® ®olenas enawo amMQl

Based on the relationship fill in the
010667 15000 al)dla|lees.

blanks .
a) Cell division : Cytokinin 3) esomaflemmo 1 eHaERIGIIIM
| Bolting : apRielvii=l39e] )
| Euglena . Protista @RI : 6laloslay
SODCHNIQIOMY
Mycoplasma 3R o

' 1 Score

Suggest the correct scientific term 2. (AWOW VoO(Pa-iBo MIBGGUIBEE:.

for the following a) @M &vaydfl) AfleWMOH]

UMD ahaHallaenomy.
ay Flowering on exposure to low -l 20N

temperature HOLIEH MR BTG al8H08]

GPIS:

) Algal partner in lichens. (1 Score

3. oy mmldsesmm a, b egoml 2@
s (Ao g oo veBatmid-Ud

JObserve the following diagrams
@SN B2 Ol . BMId

. 19" and identify the

plaoenta’tion.
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Please visit: www.easybiologyclass.com

For more question papers
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£5In cactus both leaves and stem are 4. 85 0y(36).2JSlE100 EDRIMHRL0 EHOEMD

" modified to perform different functions. o 0Ly WhomeTBUd MIBQIaOlHE
il ealendl @aioameo (addallafl

Name the modifications

AHONOMY. DD DI IDOHOEMETBRYES Gl

and identify their functions. (2 Scores) HOOMBET WADETBR af)LLOE:

(2 coId)

5. Aerobic respiration and anaerobic

respiration starts with a common | 9. Q0@ (OJTVMEBIEg0 @ROIOW) GoJVM
| OT1R0 BHOEMeQ|SIMMN Hald®IIW

pathway. Identify the pathway and its

(A (@I@ of)0m 7 0D (al(dQWIONS

end product. (1 Score) ) )
" ANLINIWIENBIEM H®alMo af)a® 7
j/hefollowing s a list of characteristic | (1 arpod)
features of angiosperms and | g T EIsMAnLEaEse EdEm
gymnosperms. Choose those | s Eaesw]o 2 llal qvjedn mallew
characters that belong to | U@ WD ®IOY ®MIOIHNM]. OOl
gymnosperms. @ Mmoo EDCMICTYODYHBLOS

no(@o VANEAU®EWD @@ 2)Clermm

- AfTracheids alone form the

conducting elements in xylem.

HOIN e%lsgmgc&.

a) ©OMeIEmea MoQladMEBuv”

b) Production of fruits. j SEBUND (SHEI WS D@ DOEM.

c) Naked seeds 2)) ANLIETBUY HMaloGlalleammmy.

£) allomed ERMICmETBSO6M.

_df Cones are seen ) Co0amuEd B0 SMr

JaYETBD H:06Mea Tl Y

E”{ Flowers absent e)

()
H eomammi@ @wommow)o Tl

J')/ Xylem mainly contains vessels
_ _ . B UD BH06MeQISHMY.

~ g) Double fertilization present. g alenflmaueseimo ©:06Mmealsiamy.

; (2{Score) _ (2 capod)
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_4) Intomato plants drops of water are

_Joy Farmers remove leaves of banana

@Observe the Hlustration given below

417

R

Suggest reason for the following : /. ®OOPalOWIM  (alMOUM B WD B

SHOM06N0 H6)61YS(010) s,

seen along leaf margins in the a) ®£90816.2S1HEl@ Dalsales

morning. @OOISICD (BT VAW O

REIOTRBR]BUD H506MEQ S},

, _ 8. moey mmildlemnmm all(@leoemo
and answer the following questions

MOl 2] HEDHOODLL®NH.

Pyruvate

(3C)
C?r{r}A \%gh T
Acetyl coenzyme A
(20)
Okaloacetic acid TSR,
{4C) Cltyvic acid
o L2 i
ﬁg& {8C)
£
0
4 a-kKefoglutaric acid
Malic acid (2C)
(4C) ;
&~ s
- £
% ‘

v Succﬁzg::} acid‘ é’/
a) ldentify the cyclic pathway a) ®IEleeM 210l (@l
' @Ol Gl

C) 00 (lelowl@d CO, 6msosym®
QROMEL00 CRISOBIOLIM U B
nrINES (3 @Id)

c) ldentity the steps of this pathway
In which decarboxylation takes |
place. (3 Score)

visit: www.easybiologyclass.co
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9. Dicot plants show secondary growth

in their stem and root.

a) Name the meristems that causes
secondary growth in vascular

region and cortex

b) Comment on the activity of this

meristem.

OR

Some tissues In plants are not able to

divide further

a) Suggest name of such tissues
b) Give any three examples

c) List the difference between
epidermal tissue system of roots -

and leaves.

417

(3 Score) |

9. aflenfllgal(@® MAVIEIBRLOS &I6MU
olelo eUd-sleo Bl Iad.al

BH06MEQ|SIMY,
L.

a) oaOME:RI:EIa0 CEO0SEIal0
M@ USD A HOOMAOOW

QA LI aReO®Lo 7

D) 0 eAGIERAE BHRIGHYONS (A lCLD

QOISDIG IR NN IESY

@10 6) 888> @D

OOV AEMBEIE  HOeMealsyom  allel
HeleDH Qllemio alleZlaenomeas

SHldlal.

a) 60 c:BaéicB:%G)S GO0 ?

D) agemesslello MM HBIAOMEMETRUY
TR

C) sneidalallo GQUi&lalo ag)al
WA Slayyl Mo af)ssBe M
QL@ 006 Sl By ?

(3 én;goc‘b)
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10) Observe the diagram given selfow | 10- @6¥ mriidlenm aenegosiailon
aflimo Aot o] HEDHOORFLTIL.

representing a stage of mitosis.

@ldentify the stage.
@ Distinguish it from corresponding | b) olewomiloy—|  6al VMM DOW
stage of meiosis — | ceis @ T @O ag)EBeM
, | (L@ 100 SIOlHN, ?
€) Mention the role of spindle fibers |
: c) eeneRMIIaVld ldSIEd Oen6N]
in Mitosis. (3 Score) | "
OLEHELeS WAEDORaD (3 empod)

G\j}The following is a list of cell | 11 aflel GEOU00NETREIOS Galld MIOY

organelles (nucleus, epdoplasmic | 660G OOV LT
reticulum, lysosSOmes, chloroplast, (p (B%ﬂ@mujag)(ﬁ@(wggégqg’]@; 605!
golgi complex, mitochondria, | £61800, §OBIGTVOGNO0, 621060064008
ribosome) cnoRull  @ddogldey, AODERD
' - CHIMSIW, 5OEENIDENVD '
\’ﬁ()/ldentify the organelles with double j’, . e o °)
membrane envelope. ' E“ﬂ} ; a) eneg (RO O HHOENE @OOIMEMO
- 501960 |30 @@l o)l
b) Mention the functions of these I
\ D) 60D GEOUONETBANS UBANO
organelies. (3 Score))| o _
o ANl U@ BENEs. . (3 amod)
i B |
-6-
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\@ The biochemical assay of some plants

_ indicates the presence of Gold,
Vanadium, Silicon, etc. But, these
elements are not considered as

essential elements. Comment.

(2 Score) |

(138. Light reaction and dark reaction are

the two stages of photosynthesis.
.a) Where does light reaction occurs 7

/t{) What are its end products ?

2) Comment on their roles in dark

reaction.

\/M./ Artificial phytohormones are widely

used in agriculture.

_ /a’f Name any two artificial
phytohormones.

Pj/l\/lention their importance in :
agriculture. (2 Score) |

417

(4 Score)

12. 2flal o ieTBe 60S RO al®l

QU OUD M @3 (mjfbegj%o, QM Wo,

mleflonend agomici@es qomiw jo

HHOEMOQISITY. alGHhH 607 MYLIGETROS

@0 LU 0] Ll 6B RO al@lenm]He)

vilal. (ilevBaes @oElaloo ag) P ds.

(2 aorpod)

| 13, (U000 TVoGRANEMEDTIOM O6eNS RIS

mgom‘” (10U ARISOI0  EDEYENS

QiSO 0.

a) agpfles auajoem (ald0weRlSo
MNSHMM® 7

D) (1000 RISETIONM O®altMEvB
O®EI00 7

C) DMENE *ISOYTIE 600 Ol

6OB86S WMD) ?

(4 emod)
14, &)@l qVIVICANIBEMIMIEHES drjnd]

Q' @D

AU J0al&MOW] ©alC@OW

)Y SLOTONTTY.

O

a) o@O®B:IRI0 O Hy(@a VT

BaOOMBEROEMEHROS CaleYDLLE s«

D) D@ 60D BAOIBEMOEMYEHRLS
(2 arpod)

(aloWom e ™ ?
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ZO0OLOGY

.
p % 5‘ i

Maximum Score : 30

Time : 1 Hour
Cool of Time : 10 Minutes

_X_Fillin the blanks 1. afigenlo® @M aljdlo]loR)

_. mileelocny - @DOC@®ICIIS
Coelomate : Arthropoda :: .
_ : TV Y BOD (TUIGEIOGDR _
Psuedocoelo mate -
_ (1 empod)
(1 Score) - .
o D 00ENI00OA0EWE 1 aUIND
@ Carbohydrate : Sugars . | - GlalogI (1 epod)
Proteins : (1 Score)

3. BREOQISEDOMN DHEETBOTIR. EI0H6)]

/3./Identify the odd one and write the WIBROWLHS aldD) /@0t @

common feature of other items.

Nephridia, Malpighian tubule,
Spicules, Kidney, Flame cells.

OB ROBE D>,
oMlafui@, 2@ aflefload MNOE3l UL,

(m’}gea(g@(rﬁ} AU, @%gcgﬂo

(1 Score) OMVELEUD. (1 cad)
_ | 4. ©009 §&0SiETAIHHIM G633
ﬁCategorise the following terms into | nemeow)l ®oo CEEeE. B8O
two. Give suitable title for each ()_ﬂ(gog)amjﬂm%o (GTDCT)&(BGDO%JEDO(D)

DRIOEOS MELE-.

onflad 100, o Yal@o, @O, 2glon Y,
(160K O 0 I0DHE), 620
geniOIWo . - (1 cood)

ﬂs it possible to compare the water | 5. ag)@slemondenres o050 QoM
‘ £2100 QJQITUA@IE DMPUIOR SO
AE®M  Qljoiuo®io  @ICDMEA)
60| SO0 S QIR0 ? MIETBRIOS
HEHOOED VOWIB AL, (2 erod)

vascular system of phylum
Echinodermata to circulatory system

of man in some aspects ? Justify your |
answer. _ (2 Score) |

a17
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Prepare an equation for a chemical

reaction using the following

_ G
components. N

Carbonic anhydrasg, carbonic acid,

water, carbondioxide., (1 Score)

\ i

4 I

" The blood pressure of a person is

shown as 170/130 mm Hg. What woula

be his disease ? How it affects his

body ? (1 Score)

Match Column B and C with Column A

6. ®o6)9 ®IBIENM CLOBEREUD OGO

(2] 630 ORI J0 (MIDADilE6).

5,08CeNI06M B @D 6D GV,

£,0066nI06MIey @RMIIOW), Relo,

S ENEMD UGB )TV .

(1 epod)

80 \Bolees 0smIemAdE e®I®

170/130 mm Hg @mem. ag)amowldles)o
@AOEGAOOTION GO ? H® ag)sTBOM
ol @Hee BOEGAO@IONM (OAIdle:

A IQUB@DMETBOS NUOWIBE]E> 7

(1 empod)

@eoso A lepesniwmowl esoge B

Dejo C @lejo £88UO® Gl alS]

B2 1QBE 0.

\ii) Pitutory gland

._

' iv) Thyroid glana

(2 Score)

B
Endocrine gland

i) Adrenal gland

i ii) Thymus gland

C
Principal function

a) Contraction of smooth
Muscies

b) Stimulates ovulation

/

4 Regulates basal

/4 “metabolic rate
Al Ny A _ -

| d) Increases calcium

level in the blood

(2 cmod)




Y Organisms of this phylum are radially
symmetrical, triploblastic and
coelomate with a complete digestive

system.

a) ldentify the phylum. (142) |
b) Give an example for this phylum. |
(V2)

¢) What are the distinctive features
of this phylum ? (1)

(2 Score) |

‘/lf’f The structural and functional abilities
of earth worms are helpful for it to
hecome ‘friends of farmers’.

Evaluate this statement and _
substantiate your answer. (2 Score) |

@./Observe the schematic diagram of a
- tissue

11.

417 _ ' -10-

10.

AR

9. 8@ lle®® eennldmenl slafled

cocalwel amiaElenelo, (Slegdd
60JoelBe)0, MIlGRIOCAEIMOET). @OALQ
a)demmo® e eElal milgyo O6NS.

a) eenneio a@O®NT @eenaEme:. (¥2)

b) &0 eeanaIETeel ZNE:WHe B0}
©BIAOMEMo MENG:. (Y2)

C) 60 ©OaRIETIOM TAleUoaNROW
QICD [ BH®EWD af)DmEL00 7 (1)

(2 empod)

0ePloWIeS *RISMInidQlRo W 0

AOONEOWEE TVOIIGLaU® @PCIOW

' DY DD MO VAN
HERNY.

60D (alopoauim Qfleidlo@rs MIsTEEIOS
OO0 TOIUBOI SO, (2 erpod)

Ha@enm cosud.afl(@o (1ol

B>,

.. Matrix
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- he fibers in this tissue help the
tissue to perform its function.

Substantiate. (1) |
(2 Score) |

127 Analyse the graph showing the activity
| of salivary amylase

7

. St L = el W

OF SM‘V’Q
amylase

Achivity

Identify the type of the tissue. (1) |

v Tita., ey 5 __

a) oGm0 Sl llem o llafleey om
2 ll@mavem memmm bl jSlwe

DlBeMy. MA@ H6) 0. (1)
(2 eopod)

L 12, cvellaud] @oaleaImilon (aleudommo

Mo llallesyom ((1oad afldleilen ..

ST 4fe 2% 3%k 4T -
’?ema/@e/}/ﬁ'zlw e, ;

o Which is the optimum temperature |

- forsalivary amylase obtained from |
the graph. - (V2)

D) VWhy the activity declines below the
optimum value ?

(1 Score) |

417 -41-

) |

a) melladl eealeainfion (oadldd
:06m] 2]13188 BaiFloo ®oalaflel
@ ' (%)

b) &niflme ®oaimlaiad afomye e0
QUEMINUD ag)MBeIOMo (LGB
AOWIME aG)ATT6)E06NE ? (12)

(1 eapod)
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13, eeenel@ Ganm@m) MaNIWlenM
o) DeeTMMYEGD BMYO @M.
BR@ M@ BadMETIM OO
@l aflgl. (Fl6m80d 0 (aJMRIQM
EWOS WO ENMMEENSD

13/)Bile contain no digestive enzymes, SO
hile is not needed for digestion. Do

you agree with this statement ? Justify

your answer. (2 Score) |

14, ofimo dleenye - @6y mellol
' ggggcs_o_loecgmo’bcem” HEMOO )P}

).
Py
I
| @(006{ ‘ Alveol _
! [ D D, - 104 m l'% | Alood
. ~ ~— '_ - - | RB¢
Llpod. Cayml{ﬁ’?
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/a) What is the partial pressure of
oxygen in the alveolar capillary ?

)

V@{Name the biological principles
involved in the exchange of gases

in the above structure. - (Va)

ﬁ What happen when partial pressure
of oxygen becomes same in the

' (1)
(2 Score)

alveoli and alveolar capillary 7

/ How the counter current mechanism

nelps to maintain the concentration
gradient inthe medullary interstitium ?

(2 Score) |

OR

r.-/ On a hot day would you expect your
level of ADH in blood to be high orlow ?

Explain. (2 Score) |

417 | 13-

a) @R@Allewogdd Hoqllaidluleal
SB0EIZROM A I0BaUNDD (lad® ag)® 7
(V2)

- b) eo@malicwonsgled o Aol
DQEBIM MVaOIDIBENM UG

R mDo oM ? (2)

c) ep@allcwonsnawlalo @@l
o8 Boqleiclaflelo Bogsleed
0B \@ (alayd @l jmo@ont
o), MocQLlBe0 7 (1)

(2 eapod)

15. enagld]l enmMAElad JEBIEd CH06ND

MMREOAHUM (I Mlalrld@mom
BVEMA HOM HAHOOMITVo ah)eTBEOM

@OEM VAN HRAIB M@ ?

(2 sapod)

(810 6) [ 8>

16. 2ys188 &) claiqve MamBales

onsmoiloel ADH exqg mlal eysloldl
- B! ? Boemldleanend ? aflved]

SSHENESY

(2 cmpad)

o2 [ D

o)




W

T.‘ Observe the figure and answer the 17. afio Mo 2 OO M),
/" question. ' ' -

a) Name the nodaltissue A and B. (1) | 2) A B agmil emoave Slax @S

GO TN . (1)
b) Why Ais called pacemaker? (1) |

b) ‘A oW ‘al COHHD ag)(TM]
(2 Score) |

@Draw a flow chart showing
physiological processes involved In

the formation of cross bridge during

QNS BMOBAMOR06NE ? (1)

(2 empod)

om@ e NenEmIOWd Gld@OM
NI HENBIEIMIS@ OB

- DI (Al UAEDHMETBUD Ol JBD
muscle contraction. (2 Score) |

DO 60} EaQ0-210dS (dIEeD.
(2 gorpod)

417 - - -14-
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\%nalyse the concept map given below 19. omlago ag)M @DUW®O QBB DIHE)
OO Wo MINY 63050115186

e06MMa]Q moalleel aflg owemsUd

and fill the gaps appropriately so as

to explain the concept of brain.
QJ%(D’]%%%)&C&.

~ Pavis
. — v ) _

\"'1_) TR E E:Rf’rf:;‘;l } {?}) —_— “@H___:_“ _ j iy &@ —
‘L l -}myk? J/ Pay¥ \L Poavt J" *:

E%}E EEEUMJEHP*‘:;‘M”# L t(c:RPa R?t_:'x QU ADR| G;E;ﬂ;di&ﬂ (F’QN.S]' [g‘:f:‘& :;ﬂam ’:‘?»‘%QE EELme]
"ANPOTHALAMUS | | - :
\L Funchons " 1 Fun (hs l Flun ¢ K ows
e v o
¢ ..,@__.. s VI ﬂ’gﬁex | o F*Wﬁh'm
| i <& MC[! fb?j | 9 . ______@ _
o _refer | . @

N J NI

(3 Score) (3 epod)

417 -15-






